VALVES & ADAPTORS
VANALAR & ADAPTORLER

ROTALOCK VALVES
ROTALOK VANALARI

Order Rotalock Inlet Service Body Working
Connection Connection Connection [mm] Pressure [bar]

C2
C3
C4
C5
Ccé
Cc7
(0]
C9
C10
Cc11
C12
C13
Cc14
C15
C16
C17
c18

RV-1/4
RV-3/8
RV-1/2
RV-5/8
RV-3/4
RV-7/8
RV-11/8
RV-1 3/8
RV-1 5/8
RV-21/8
RV-1 5/8x
RV-3/8s
RV-1/2s
RV-5/8s
RV/A-1
RV/A-114
RV/A-134
RV/A-214

'

11/4"

13/4"

21/4"

13/4"

"

"
11/4"
13/4"
21/4"

CAST IRON STOP VALVES
DOKME DEMIR STOP VANALARI

Order Lenght Inlet Service Working
N[} [mm] Connection Connection Pressure [bar]

CV-54
D2 CV-66 292
D3 CV-66x 380
D4 CV-80 380
D5 CV-92 380
D6 CV-102 412
FLANGE CONNECTIONS

FLANS BAGLANTILARI

Order Flange Screw Inlet Working
Connection Connection Connection Pressure [b

E2
E3
E4
E5
E6
E7

FC-54
FC-66
FC-76
FC-80
FC-92
FC-102
FC-114

ROTALOCK PIPES
ROTALOCK BORULARI

Order Body Rotalock Inlet Working
[mm] Connection Connection Pressure [bar]

L2
L3
L4
L5
L6
L7
L8
L9

RP-1/2
RP-5/8
RP-3/4
RP-7/8
RP-11/8
RP-13/8
RP-1 5/8
RP-15/8
RP-2 1/8

./

REFRICERATION COMPONENTS

Square 120 x 120
Square 140 x 140
Square 170 x 170
Square 170 x 170
Square 170 x 170
Circular 250
Circular 250

22

30
30

50

1/4" ODS
3/8" ODS
1/2" ODS
5/8" ODS
3/4" ODS
7/8" ODS
11/8" ODS
13/8" ODS
15/8" ODS
21/8" ODS
15/8" ODS
3/8" SAE
1/2" SAE
5/8" SAE
1" Rot.

1 1/4" Rot.
13/4" Rot.
2 1/4" Rot.

21/8" ODS
2 5/8" ODS
2 5/8" ODS
31/8" ODS
3 5/8" ODS
4" ODS

4x Screw - M12
4x Screw - M12
4x Screw - M14
4x Screw - M14
4x Screw - M14
8x Screw - M18
8x Screw - M18

11/4"

13/4"

21/4"

20

22

30

2x 1/4" SAE 50

30

20

20
30
50
50

1/4" NPT

21/8" ODS
2 5/8" ODS

3" ODS
31/8" ODS
3 5/8" ODS

4" ODS
4 1/2" ODS

1/2" ODS
5/8" ODS
3/4" ODS
7/8" ODS
11/8" ODS
13/8" ODS
15/8" ODS
15/8" ODS
21/8" ODS

45 Bar

45 Bar

45 Bar

45 Bar

info@gvn.com.tr




